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To the R&TTE Notified Body
We,
	Company name
	

	Address
	

	City
	

	Country
	


declare that our equipment identified by
	Product Description
	

	Tradename or Brand(s)
	

	Type or Model(s)
	


as submitted for this Notified Body assessment, fulfils the requirements of Directive 99/5/EC and RF exposure limits specified  in Council Recommendation 1999/519/EC. Justification is given in the calculation following below:
	The measured conducted output power = Pconducted = a =
	
	mW

	The maximum possible duty cycle (use a conservative value) = Pmax, % = b =
	
	%

	Paverage, conducted = a * b / 100 = c =
	
	MW  (calculated)

	Paverage, conducted = 10 * log10 (c) = d =
	
	dBm (calculated)

	Maximum antenna gain = Gmax = e =
	
	dBi

	Maximum antenna cable Loss = Lmax = f =
	
	dB

	Paverage, eirp = d + e – f = g =
	
	dBm (calculated)

	Paverage, eirp = 10 (g / 10) = h =
	
	mW (calculated)  < 20mW ?


(choose either A or B. In case of B, finish the calculation under B)
	
	A. This equipment complies with the 20mW limit and is deemed to be safe under all circumstances.

	As calculated above, the average eirp (or eirp) appears to be less than 20mW and therefore complies with EN50371.


	
	B. This equipment is a mobile (fixed) device and complies with the MPE limit

	According to EN50385 and EN50383, the far field calculation can be used for base stations (non hand held devices) and it shows that at a certain distance, the power density equals the MPE limit as specified for the target user group. This distance, preferably with some extra margin, shall always be respected when the equipment is transmitting.

	For the
	
	general public or
	
	occupational workers  (cross either general public or occupational workers),

	the worst case MPE given as regulatory limit = MPE = i =
	
	mW/cm2

	at frequency (this frequency must be within the equipment's frequency range) = j =
	
	MHz

	The minimum distance to maintain to the human body (Friis) = ( { (i / h)2 } / 4π )-1 =
	
	cm (safe distance)


Attestation:
	City and Country:

	Date:
	Name:
(this must be a person)
	Function:
	Signature:
(or official company stamp)

	
	
	
	
	


	
	

	
	



